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Candidates should attempt all questions of GROUP-A

with word limit of 300 words and should attempt any 10(ten)
questions from GROUP-B with word limit of 250 words.
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GROUP—A

1. Assess the environmental and human health impacts of plastic

pollution. Examine the sources, distribution and persistence of plastic
pollutants in terrestrial and aquatic ecosystems. Discuss potential
strategies and technological innovations for mitigating plastic
pollution and promoting sustainable waste management practices.

20

AEQ g9uea, a8eld 99° AIRe 1YY QIR JRINY INRR 9] | YL
99° Q6QIdAN6R QIEQ g9Tda @Y, /4R 99° 300l 99181 ¢ | QI8 998dq
219 FAQI IS 9619Q JASIRA! ANNIAQ 6912 PRI TR AR QA1
Q° 6590 QOA0I FUUER UIERISR A |

. Investigate the phenomenon of ozone depletion in the stratosphere.

Discuss the role of ozone-depleting substances, their sources and
the environmental and health impacts of a depleted ozone layer.
Evaluate international efforts and agreements aimed at addressing
this issue. 20
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7.

QIPISFER BERIR 219 ATHIQ ARARIF AR | G6RIR 21ARIQ ARIIR YAR,
62920 QY 99° 214 62INYR BERIR LRQ TAEF YL° JIYY QUER A
AUFER TICAISR! 9 1 9D AAAYIR AR IR LS IV1G AL 9Q° @BRIA
JERER FRUIAR QQ |

Define the 7 layers of cybersecurity. What are vulnerability, its
types, threat and harmful acts? 20

AIRea FRITRIQ 7 20Q 4Rl 99 | ACARRAIRC!, LR IR IR 9e°
F0R10Q AGIYFTR @'€°?

. What is financial inclusion? Why is it important in the context of

the goal of inclusive development? Name some policies that have
been put in place to achieve financial inclusion in India. 20

212[Q 2eed 96? 2eR6ad1 IRHa AFY JATER 12 FIPQ §gQegd? VSR
2@ 29689 219A FAIVG 6R60R 1R R A R |

India can realize its potential GDP only if the bottlenecks in the
path can be overcome. Comment. 20
QIP6Q YR gEeaq Q8 FAAIRER VRS Y9IR AR FGd (GDP)]
AR FRAAIRQ | ARG G2 |

GROUP—B

Discuss the role of greenhouse gases in climate change. Explain
the sources of major greenhouse gases, their atmospheric behavior
and the mechanisms by which they contribute to global warming.
Also, outline potential strategies to mitigate the impact of
greenhouse gas emissions. 15
FPRIY 08ER6R F1RIAA I8 YHRI FTAER 2ICAISR K1 | 99 g1eRQ
AR @Y, 6A9F AR YA 2IPQE I° 69N @Iﬁ" 6QgQQ AR

8Ql 9IR1R 6AINYLIR IS AR |

Environmental Protection Act, 1986 has now turned into a toothless
tiger. Comment. 15

AG694 A1 ANFAC 1986 AT @2 V1R MIFER QARG 6218 | A
Qg |
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10.

11.

12.

13.

14.

Explain biodiversity with respect to its types at all biological levels.
Discuss different patterns of biodiversity. 15

ANQ 6P 2AER EFARTAULI B 9PIQ GAIQ IFVLER EAIFR AQ |
6FIQFURIR FER VUBIQ ERISR 24 |

What is flood? What are flood forecasting and warning system? Give
the detail of warning about landslide hazard and Geological Survey
of India (GSI). 15

QRYl Q€7 QR GIIRAIR Y AOD MW RE? §IRR F98 AAFE A9
4oQl @ AAGA 6LIEAIRE A6H FVAER §E6 ORI IR @al

Illustrate telemedicine. Describe its purpose and applications. 15

60RENRAR Q4RI AQ | YQ AERFY 99° J6AIS FAA6R V4R 99 |

What is data privacy and its elements? Explain different types of
data breaches. Define data linkage and profiling. 15

Q151 60IINIAGI YS° V2R RAINFYLR @'4? IER A VUGS SR
(data breaches) @ QI8 @ | @191 A°6Q19 (data linkage) 99° 6QITION
QNI @ |

Critically examine the role of Public Private Partnership (PPP) model
for infrastructure development of the country. Cite a few success
stories. 15

6298 QEQF FRIHAIR ARAIR QAR VTR (PPP) (6o 9AIg
FRRNED T FQ | RS ATR FLIEIQ ANLQE @2 |

The structural change in Indian economy is a case of the ‘missing
middle’. Do you think that this kind of structural change can help
the economy in becoming a developed one? 15

RUAVIA UAL1E ATER FORRP AR 6298 FdF JER’ @ 9@ QG4 |
@ gRIa 90% (99 J89e s 2] 1@ 3980 62916a ALY K8 UGS
6QIM Q67 Qe @7

Growth process in India has exacerbated rather than bridging the
existing inequalities. Give your views with justifications. 15

QUASEH ARYE gRA FNAIRAL AANRVIQ YARAI IA6E B Q8 |
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15. How does gender budgeting act as a strategy for achieving women | Candidate
empowerment? 15| must not

20! QE50d 219R IR AFT VEPE. PR ENIFNER FITY FEQ? writs ba
this margin.

16. Odisha is the pioneering State in starting the Odisha Millet Mission.
Discuss the rationale, objectives and major achievements of the
programme. 16

6541 fene Fae 2IaR 95QI6a BG4 AFSIARY 26T ATIFAR SISO,
QEREY 4S° gOE ATRG! FTA6R IERISR! [Q |

17. Jawaharlal Nehru termed heavy industries and plants as ‘Temples
of Mother India’. Do you agree? 15
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